3 72N

MOPONMMINN WM W PV Y AONINY T MY NrDna 0 mNan NN nowm Hilhy! U]

Lz, y) =z 050N ann ) {eqg}x G< G x G (W)
Ada v a(modn) ) nZ <Z Q)

Lorammmn Sw pyaa natya XY 1Y) Z(G) <G e

HNK 4G H K9G onw non

HKANNAQKww K<GN QG oy non
1DN0Y DPTPND N0 WA MNAN NN 29 DONPYN D0DIPN NN NN

62 < Z (N)
<9>< Uy (2)
{ﬂ'} kA E;]_ E Z'; o E’g (3)

T90/n20 o aman nn H <Gy nman G Nan

oy G/H oy mOps G ON (N)

Jropy (G oy mbprs G/H oN (2)

Mo L Hy 4G on Hy 9 Gapm
(Hl » HQ} <] (Gl o Gg) (»)

[G]_ X Gz}f{ﬂl x Hz) = (G1IH1} x (Gz)"Hj} (3}

NN K = {e} murpnn nednam aman nnenw N, K < Gy nman G 8o
Rty

Vee Nye K: xy=yx

[z~ Yy~ ey 2 vwmann 1]

12 ANV

)

4 n'Inw

5 n'ixvw

:6 n'Inw

17 2'INY

:8 n'Inw



1901 p WNI |G/N| = p noavrprn oA AMman nn N <4 G aman G non (9 D'k
2NYRT

2 MY MPSAN Y 0PN g, g%, ... g7 D orprn g € G — N 939 ron (N)
(Gfn = {g‘;"h" 11=i< p} P9 Gf/wn

G mN (G ow ma noom N o) N € Z(G) qona ox 0 i (3)
LZ(G) = G mIinN 02 W) o> n aman

Nt o D = {(g.9) : g € G} C G x G vy marn nan G NOn 40 nnw
NI G ox GO mONDN NMan nn

GxGfp == (3

nan H <G 935 29907 m9an 0y N0 AW mn 99 iR, 1eYan G ox o non A1 nire
Jeoan 0 G/H nmn

Zf5z nmana 3 + 5Z Sw ATon v Z nana 3 5w aTon e (0 112 dbre

wnd Uig/g pmana 9H 5w a7on o Uy amana 9 5w 9700 nn (3)
H=<13>

G/H 2 gH S0 100 ,g € GHhrY'nn H , G nman »nn o o5 19Ny ()
g™ € H @ 72 noonvrnn waon 'ons e

SN INPNEY NN 80737671999 4 2011 Sw mnanNA MAa0N 2 NN INSD A3 aw
1
71 9% DPNYNIN DDA DY N NDacnN WND ¢(n) =n l_[p|n“ - =)
P
114 aizw

1IN NN ONAND 2T NN PONN 2 7Y 70 10722 DOVNN MPDR 1N
2N NMNANA PN DN k|'u', ¥ 72 k 720 1 ATOR IMAN NN P2 PN 79NN
Anropy 1O maan apa) Lk 3Ton

DN LY mhwa oy AN Y G ={z e C: |z| =1} v A5 aNw

[e2™* mpxpnaa wonwn 01 Tn] BR/Z =G (N
IV ANWDI ITOR AT v 9 e H < G e (Q)

H=|])U,

nAaton arreawwon U, ={z e G 12" =1} 9w
Q/Z 5 mommen H 2 wan 0T 9yo naya

NX 727NY% D'¥N 1R D2AYINE DNNTAN DD D2 DIY! IR ,NI7RY DA PN AT 02N |19
.07

0'7'27N N2N DIV XYW D'™7'23N0 79 NIX X7 AN9Y7 713" 0'IoN XY ANV Yy 'n
NIV NINNA D'RYIIN 792 20D QUONWAY I'DINY 1)







